T

El\’([_\\

fhZe (AR01)

I=E7 TN
TH4 | R7HE AREIVER IE - /ME EARTE GRO Tl FHEN Sy TR - SR
i) THXSy HERGR
THX 5y - AR - R - A5 Bikk HLAZ ek (gilED) e (4m) KR S
HERHR
= 1
BT
= 1
AT
X 1
BRI 301% 1 TE AW CEBE- EAIRY HET)
m3 2
7RSSy
m3 2
HEAK A T
X 1
e+ T
= 1
PRAE D (HE A1) THEHCE
m3 1
PRAE D B
m3 7
HLEE L TER Sy R, R VR L
m3 5
FLTH I
m2 4

=N

i



T ERTER (401)

T4 | R7HL AR EIRER B0E - hE BEaRERTE (VT HFERX Sy TH TR - o
A1) THEX 5y TH R
TEHEX Sy « TR - FER - H05) JEA% BT g (FilE) & (4E) BB T 2
FEIA (b=27) T, VRN /IR (1)
IRAE O s OFFIA
m3 1
T
= 1
7" Vv A NURLAR T URAIEHLRE - 3FE B300 X H300 L=200
Omm
m 2
il LERR O 300 41.2X9.5X50
(2/))-} )
e 4
BT
= 1
B - bR RS 1FE ¢ 300 L=2000mm W=380
kghH 2 /K
m 5.7
B HEREIE 1R
= 1
KMk kv T
= 1
7" VR AME K Bt PEELR% - PCEE /KB B300 X L600 X H700
& AT 1
EhR LR R V)
% 1
HAEESIET
= 1
9 TR0 IR




T ERTER (401)

TH4 | R7HE AREIVER IE - /ME EARTE GRO Tl FHEN Sy TR - SR
i) THXSy HERGR
THX 5y - AR - R - A5 Bikk HLAZ ¥ (mifal) e (4m) KR e
wATHYL
= 1
HERIZIUN R WRAHE t=bem HEHEMTTRES A D
(REREWA MR AT - T AR A L)
m2 290
=7 R T REN-1271-7A
m2 312
G E L
= 1
HEE B L T
= 1
270 - MEE P BUE L HEEN) DX ) R R, TIEX
A
m3 0.5
SRR BT B RRRRR] 73770 MEERR, 747 7V MR
LERRE 1 16emEL T
m 13
L FSERRRR : 727 70 bR, BHENUE
:5em > .
a7 - bk - JL sy IS
m3 0.5
TAT 7 bk - A5y
m3 0.4
ERRIG RS Fe EHAERR G B K
t 0. 02
g TR I




T ERTER (401)

T4 | R7HL AR EIRER B0E - hE BEaRERTE (VT FEXS TH TR - o
) THEXS TH R
TEHX Sy - TFE - FERI - 5] ks BT o (il Y (AR bk T 2

AZE T
= 1
TAT 7 a3
= 1
A FARL FE TR RM-30
WRAZIE t=10cm
m2 8
3] FRA ORI E T A2y (13)
HZEE t=5cm
m2 8
rEan
= 1
TEHE R (R T
=, 1
) V-VARER - HE
m 85
£ ) V-
H 2
ARIEEHT
=, 1
RIE G B R A 5B
A H 60
R X -
= 1
- T I




T

=. Y/

RfEZR (AN01)

H

TH4 | R7HE AREIVER IE - /ME EARTE GRO Tl HEX S TR - SR
) THEXSy HERGR
LXKy « LA - FR - A Hiks HL e (iR o (&) R 11 2L
IR
=« 1
el %
=« 1
T
= 1
IR A I e ) USSR TE
HEHEFERE L=75. 2kn
=) 2
HRER
=« 1
PR MY PR MV R A T
Bk E A4 - 160 A [EARE
= 1
HLima (FG L)
=« 1
i T
=« 1
Bl Bt
= 1
TH AU
=« 1
— MR PR
=« 1
mo IR




T ERTER (401)

TH4 | R7HE AREIVER IE - /ME EARTE GRO Tl HEX S TR - SR
i) THEXSy HERGR
THX 5y - AR - R - A5 Biks HAL ¥ (mifal) i (4D KR e
T EAfliks
= 1
THEBIRE K O 5 T e B
= 1
THEGF
= 1

=N

i



